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For Questions 1-3, use @D.
8. Name a radius, DB or DA

{9, Namea chord that is not a di'a’méter. o

2C Name a seg:.ant.' CH
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22. The circumference of a steering wheel of a car is 20 mches ‘What is ;.he
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27 In OX, chords AB and CD are congruent and AB is 9 units from X Find the -
distance from CD to X.
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23 IfAB is tangent to OP at B, find ms1.
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2¢).Find m£PQR if QP and QR are tangent to OX.
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34, Find the equation of OP
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22. Find the center, of the ci
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33, Find the equation of a circle whose center is at (~1, 5) and radius is 8.
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